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Librarian/ Sports Officer Exam 2018
(Model Answer Key)

Sports officer

Q1 : Type of research that involves the manipulation of treatments in an attempt to establish cause and effect relationships is known
as?

MY BT UBR STH HRUT 3R YU H Faiey RTId B3 & oI ITTR H R 571 ST €, T el g2

Qualitative Research

OIS Y

Experimental Research

TONTTHS MY

Descriptive Research

JuiHTHS MY

Epidemiological Research

b TEERY fagH =My

Answer Key: B

Q2 : Type of research that involves in depth study and evaluation of available information in an attempt to explain complex
phenomena is known as -

@ﬂm?ﬁmﬁaﬁam&ﬁaﬁﬂmﬁ%ﬁmﬁwmmw LT 3R Yegien- {1 ST §
HEATT §-

Philosophic Research

ARIBEZRNIL]

Historical Research

e =y

Descriptive Research

JuHTHS WY

Analytical Research

D

faeauTES Y

Answer Key: D

Q3 : List of resources that provides a brief description of the nature and scope of each article or book is-

I B T G SN U oG AT G 1 Upid IR GRR P WIEd fIavur UG FHcht 5, T HodKi g 2

Indexed bibliography

S1Ih i T

Annotated bibliography

TP e

Critical bibliography

e el




D | Abstract bibliography

IR gt

Answer Key: B

Q4 : Using ideas, concepts, writings or drawings of others as your own is known as -

ol R & AR, 4ROT, R 3R SIS 1 37T T HR SUTNT AT T HEaAdT @ ?

Falsification
A
SHIIH T
Dual publication
B
ARREANE
Plagiarisum
C
wifefde I
Copy right
D v
CIRIRIES

Answer Key: C

Q5 : Test based on data assumptions of normal distribution, equal variance and independence of observation is known as -

AT fIaR0T,SRISR fa=RuT 3R Vo1 b1 3M1oidl 1 SeT Aruarsii & YR TR UReu] & &1 Hed 82

Non-parametric statistical Test
A [ et Wi wem
Parametric statistical Test
B [aeiee wifemia wiem
Distribution - Free statistical Test
© | Faereor e it wgm
Probability Statistical Test
P | Gareen s wdem

Answer Key: B

Q6 : IfOis observation and X is treatment , then the following experimental design is
01 X3 02X 03

3R O - e 3R X - IUAR § o (Y TanTetes fewga aan 82

01X, 02,X, 03

One - group Pretest Post-test Design
Rl eaer s s -
Repeated Measure Design
. QIR JUMY SHiHhey
Static Group Comparison Design
¢ R g o sifldbey
Pre-Test Post-Test Randomized Design
P [ qegor are wlterm arefase oo

Answer Key: B




Q7 : To examine effects of more than one independent variable at a time in a single experiment, the research worker use

T J 3HfYh W TR P YHTT BT Th T H AU & o Ypdl o1 ST Bl g2

Rotation group Design
A
YHTICR JHE 3iflidhed
Pretest - Posttest Randomized Design
T e e S ——
Factorial Design
¢ §g-3UTeT 3ifiebey
Repeated Measure Design
P gHfafag AT Sifided

Answer Key: C

Q8 : A technique of literature review that contains a definitive methodology and quantifies the results of various studies to standard
metric that allows the use of statistical techniques as a means of analysis is known as

g e o adb-ie forad ffd ueafd oik fafie srerami & aRome! &t gafrd & & O Hifed forad fazayor
¥ o wiReges g aeb-ies & IUTNT & STHS B T Heard g 2

Meta Analysis

e
Deductive Analysis

® | fachors faeerom
Super Analysis

© | o o
Critical Analysis

P | srerertrere fazamm

Answer Key: A

Q9 : Type of paper and pencil survey used in descriptive survey and used in descriptive research in which information is obtained by
asking participant to respond to questions rather than by observing their behavior is known as

BT AR YRS Y& BT YHR S quf-TeTes Taeror B 3R JuiTeS [Ne B I giaT § Foras a1 gagR & fAdfemor
TSI UfIHTR & 0% U B UTed Bl SiTell 8,39 o1 g 82

Interview
A
HI&Teh R
Survey
B
Questionnaire
© (st
Categorical response
P Wy yfdferan

Answer Key: C

Q10 Research in which samples of participants from different age group are selected in order to assess the effects of maturation is
known as




gﬁumﬁw-ww%ﬁ%ﬁmﬁﬁwwﬁuw%umwwm%ﬁmmw%Gﬁwao—s?f
9

Meta- Analysis
A e o
Cross - Sectional Study
b ST Sreag=
Normative Analysis
© [ fazam
Case - Study
D
DY YT

Answer Key: B

Q11 Sit-ups, pull-ups, baskets or goals made, no. of hits or strikes bear a numerical value about them are an examples of .......

He-31u, gd-31U, IRbe 9 Md BT, fee a1 ey &t T, Ueh WeATe S W 8idl €, ot fob 9 1 U IaTerur g -

Discrete variables
A Sdd =R
Continuous variables
. FRR =
Moderate variables
¢ HYH =R
Intervening variables
b RN

Answer Key: A

Q12 Philosophical research is also known as

e Wy FgF U d i SIS

Empirical Research
A e <

Conceptual Research
5 Lt g

Analytical Research
¢ [EESELIEANI)

Qualitative Research
D

OIS Y

Answer Key: B

Q13 Variable over which a researcher has control is

98 TR R TR Meebal BT =0 ) earar -

Independent

Tada

B | Dependent




3fgra

Moderate
C

HOH

Continuous
D X

R

Answer Key: A

Q14 What is the meaning of op.cit in footnotes?

P H op.cit BT T 312 &2

And other
A
GRS G
Previously cited
P | oo e
Paragraph
© [t
Same Person
D Br——

Answer Key: B

Q15 Synopsis is also called as -
ey FORE B A W HET SR -

Research Proposal
A
RUPEISIE]
Methodology
B
fafey
Summary
C .
Abstract
D =
RIEER)

Answer Key: A

Q16 Which type of Research solves an immediate particular problem?
b TPR 1 QMY AeebTeT FHET BT FHIYM Aol 8-

Basic Research
A HAd Y
Action Research
5 (oo <
Applied Research
¢ HATERD MY
Histrocial Research
P [t <




| Answer Key: C

Q17 Related group design is also known as -

Tfd g Sifieed &I g W FRT T © -

Equated or Parallal group design
A SHICS YU b ed AT JHMR FHE ey
Factorial Group design
B HaeiRad Ju ifimed
Repeated Measure design
© [xtes Ao e
Random Group design
P USH JU HYheq

Answer Key: A

Q18 The basic standard score that converts raw scores to units of standard deviation in which the mean is zero and standard deviation
is 1.0 is known as-

T A TR O el ThR S THS (g 31 3H1edl ¥ ged Sal ¢ o ofiyd J1 ok e faga 1.0 8 ar
AR HEA ] ?

T-Score
A
TIBR
Hull-Score
B
TA-WHR
Z-Score
C
TEIBR
Sigma Score
D
R

Answer Key: C

Q19 Condition beyond the control of the Researcher is known as.

STHYT Tl & AT & STER 1 URTRURT BT 1 HgT AT § 2

Limitation
A
TRt
Delimitation
b [
Research ethics
© [
Significance of problem
R g

Answer Key: A

Q20 A positive or negative enviromental stimulus that motivates behaviour is known as -

THRIAD T THRIHD TUTGRUNY IET ol AIER BT ATHURT BT 8,37 Healdl &2




Learning

ST

Reinforcement

PENE]

Incentive

EISIGE]

Punishment

D
qUs

Answer Key: B

Q21 The magnitude of type -l error is known as

TTRY-11 UHR B IS P! AT b1 T Had 82

Beta

ofter

Alpha

Tethl

Effect size

UHIT 3ThRR

Power

P s

Answer Key: A

Q22 The level of probability set by the experimenter prior to the study is known as
3T Y Ugd U YARTl gRT FufRd ST 31 TR 79 BT 1 Sl 6 2

Beta

ofter

Alpha

D

Answer Key: B

Q23 Class interval:
. 70 - 74

65-69

60 - 64

The above class interval is an example of -

HET AR

70-74
65-69




60-64
IR BT ST ISR @ -

Inclusive Method

gATah fafdr

Exclusive Method

3 fafy

Pure Method

e fafey

Representation Method

D

gfaffera fafe

Answer Key: A

Q24 Quartile deviation is a measure of variability taken about

VG fererer FirerelT 21 9 e § off e 0 9 oy o ARy SR Bl & -

Mean

3gd

Median

Hey

Mode

ERNE

Deviation

Dﬁ%l?ﬂ

Answer Key: B

Q25 Innormal curve, the area of the curve that falls within the limit of +1 standard Deviation is

T A b B + 1 AP fage & fobam ash &1 &7 3marg 2

68.26%

68.26 %

62.86%

62.86 %

66.28%

66.28%

62.68%
D

62.68 %

Answer Key: A

Q26 Which of the following is not an assumption underlying Perason's Product Movement method in the computation of the
correlation coefficient?

e B Q T a1 gy Turies B T H feRe tisde faftr % Sui & dgd sidfied YR el 3

Linearity of relationship

Y Bt IR

B | Homoscedasticity




Continuity of the variables
C : .

ENEANRIGIGI

MultiModuler distribution
D Y2

§g ArSgeR faaRur

Answer Key: D

Q27 F-ratio is equal to -

F - 3{UTd SRIeR -

Between-groups variance/Within- group variance

g & ot aanagg o iR frar

Within-group variance/Between-groups variance

g & YR f=Idagg & &t s

Between group variance + Within group variance.

g & a1 arar + 998 & HiaR s

Sum of square within group/Sum of square between group

P g & HiaR Il &1 N1/ & S Gl bl AT

Answer Key: A

Q28 After selecting the text, the Keyboard shortcut for Bigger font is

THRE & I P 91, Pt AIs UR I51 HIUE B & ford TTe &e -

Ctrl + Shift + +
A Ctrl + Shift + +

Ctrl + Shift +>
B Ctrl + Shift +>

Ctrl + Shift +A
¢ Ctrl + Shift +A
D Ctrl +B

Ctrl + B

Answer Key: B

Q29 The positive square root of the average of the squares deviation of all scores from their mean is known as

It TR & 7 J o faae &1 3Nd &1 YHRIAD T © -

Mean Deviation
A | st e
Quartile Deviation
. Ig fererer
Standard Deviation
¢ LIEEACERE
Coefficient Deviation
b BUIEACERE]




| Answer Key: C

Q30 In positively skewed distribution, mean, median and mode are related as:

IHRIAD I fIaRur & oigd,Ared 3R Ars 3oy & Jefid gl § -

Mean = Median = Mode

T
Mean = Median > Mode

. 3d = A1 > Al
Mode < Median < Mean

¢ A < J1e <3fiea

b Median > Mean = Mode

1 > 3Nd = Al

Answer Key: C

Q31 The point of inflection at normal curve occurs at -

T a5h TR gHIGER fog FE H 3l W smarg 2

+ 3 Standard deviation

A + 3 A faaem

+ 2 Standard deviation
. + 2 S faerer

4+ 1 Standard deviation
¢ + 1 HFS faerer

=+ 0 Standard deviation
b + 0 Ao famrer

Answer Key: C

Q32 Inadistribution, if value of Kurtosis is greater than 0.263 then the curve is

T fARU & Fpaar 0.263 T 31w g o ash 9 & I Bt gt 8 2

Normal
A
qHY
LeptoKurtic
MesoKurtic
C
ERIGIRG
PlatyKurtic
D

Terctepliced

Answer Key: D

Q33 Most reliable central tendency is

F4g ygfa & 7 Ja9 Sarel faya-ig A

A

Mean




areg

Median

HYHTH

Mode

CRNE

Standard deviation

Dwﬁ?ﬁﬂ

Answer Key: A

Q34 In Normal Curve the value of Kurtosis is -

AR T B HHad R gI § ?

0.263

0.263

0.362

0.362

0.632

0.632

0.326
D

0.326

Answer Key: A

Q35 The concept of standard Deviation is introduced by

AP fage ot srayron fa- ufquifed &1 -

Karl Pearson

CARAERERSE]

Fisher

flheR

Spearman

iR 77

Gauss

D =
RIS

Answer Key: A

Q36 The range of correlation between variables is -

R N Tg Y gl A Fel db BaATgarg -
-1to +1
A S18+1
-0.1to +0. 1
b 0.1 +0.1
Oto1
¢ 091




D |0.1to 1.0

0.191.0

Answer Key: A

Q37 Which of the following is a test of Significance ?

= 7 A 1 g1 ardied &1 TEu g 2

Z - test

oS - %

Sigma Test

e

t - test

&

Hull Test

D

ge o&

Answer Key: C

Q38 The full form of SPSS
T O, TR A 1§ 2

Statistical Package for the social science

Rfeded U BR &) TR 95y

Social science Package for Statistics

T 9159 Ubol BR Rieaw

Statistics Program for the social studies

LT T BR &l 9N el

Statistical Program for the social studies

P Kierasrd IUH BR &l JRd Tl

Answer Key: A

Q39 The meaning of CPU is
R g, HTwm g -

Central Processing Unit

el YR gfHe

Central Control Unit

Control Program Unit

I A gfte

Central Program unit

D

Hrciel YR gfHe

Answer Key: A

Q40 Fartlek training is specifically used for the development of -




BIEAD URIE0 BT IUINT ARy U I forgd b & R gar e -

Speed

T

Endurance

RERRINGI

Flexibility

NEINICE

Coordinative ability

DWW

Answer Key: B

Q41 The longest training cycle is -

T T UIRIE0T Ih @ -

Macro cycle

Al I

Micro cycle

HISHI T5h

Giga Cycle

firm=w

Crab cycle

Dén—ﬁw

Answer Key: A

Q42 Which of the following is not a principle of training ?

5 B Q1 a1 ufie 1 Rigid TR g 2

Principle of continuity

QR &1 Rrgia

Principle of progressive load

TrTfaRitd UR &1 Rigia

Principle of plan and systematic training

o1 Ud afeyd UfRiemr o1 Rgid

Principle of heirarchy

D

3 gepH &1 Rigid

Answer Key: D

Q43 Static strength is also known as -

RYfdes dipd & ug N TSI 2 -

Isometric strength

TSR dqThd

B | Isotonic strength

SMRHICI® dIdhd




Isokinetic strength

AP AeD dihd

D

Isosometic strength

IRANARS drod

Answer Key: A

Q44 Relative strength is calculated by -

HTUféres drehd Pt TUMT B Sl § -

Minimum strength / Body weight

AAH AT d/RMRNG g

Optimum strength / height

J=dH dIhd/HaTs

Minimum strength X maximum strength

G dIhd x 3HfYHa didbd

D

Maximum strength / Body weight

3fIHIH drmd/RMRNE I

Answer Key: D

Q45 The two major components of Training load are -

T T A HH I IR YR & QT UJEUCH & 2
Load and performance
A im e v
Intensity and volume
B [ LCCIRCE]
Volume and load
¢ 3T T HR
D Density and Performance

Td U4 UeRH

Answer Key: B

Q46 Ballastic method is used to develop -

Safes Y HTUaNT ... & faem & for fearsrar @

Coordinative ability

JH-aG arRgdr

Endurance

LEREISKI

Flexibility

NEINIEE

D

Reaction time

gfafeear a9g

Answer Key: C




Q47 The cash prize in Eklavya award is -

Th o YIBR | &l o1 arett M -

10,000

10,000

20,000

20,000

30,000

30,000

40,000

D
40,000

Answer Key: A

Q48 The cash prize associated with Rajiv Gandhi Khel Ratna Award is -

RTSid el Wl o1 REBR & 1Y &l S aTelt qhg Y=RIRT -

10,00,000

10,00,000

9,00,000

9,00,000

8,00,000

8,00,000

7,50,000
D

7,50,000

Answer Key: D

Q49 Build up competition is also known as :-

faeg 3y ufaaifiar &) forg SR AM A T ST 8 -

Main competition

g Ufarfirar

Training competition

<1 wfcrnrar

Amature competition

AR HicrifiTa

Price money competition

P IR drelt ufaaifirar

Answer Key: B

Q50 For improving acceleration ability the load parameters are:-

RUT &1 H YR P T s ATUES & -

Intensity - 70 to 80% , Duration - 5 to § sec

e - 70-80 % 3MA(Y - 5 T § b s

Intensity - 75 to 85% , Duration - 7 to 10 sec




B | e - 7585 % oy 7@ 10 98

Intensity - 80 to 85% , Duration - 3 to 5 sec

T - 80-85 % 3AfY - 3 ¥ 5 s

Intensity - Maximum , Duration - 4 to 6 sec

b o - SIfImdH A - 4 ¥ 6 b s

Answer Key: D

Q51 The ability to do movement involving large number of muscles, at a slow pace for prolonged period is known as-

AU &1 St e H i i Y el 3rafd 7 TR HRA BT & T Py g -

General Endurance
A

FHI Fg-Titerdl

Basic Endurance
B

A TRt

Specific Endurance
C

fafRry ge-Teiierd

Long time Endurance
D

dd g dh Fg-Riddr

Answer Key: B

Q52 For improving lactic acid tolerance the training load should be

cfeee URrs afewdr & gia & forg ufiern &1 dls e A A & 91 811 =1fe e -

Intensity about 60% , Duration 10 sec. to 30 sec., Repetitions - 5 t0 6 .
A ST - TTHAT 60 %; 3Mafd - 10 ¥ 30 Yobs, RIGRI- 59 6
Intensity - Maximum, Duration 10 to 30 sec, Repetitions - 20 to 25 .
. <ieraT - 3iferehad ; 3rafd - 10 ¥ 30 Vb, TRIGRT - 20 H 25
Intensity - About 90% , Duration 20 sec to 2 min., Repetitions - 3 to 4 .
© - e o0 o4 o 20 S & 2 e, GoRIGRT -3 94
Intensity - Maximum, Duration 2 min. to 3 min., Repetitions - 5 to0 6 .
D |- ffereoem  oraf 2 3 e gt~ 5 9 6

Answer Key: C

Q53 Carbohydrate loading is effective for

FTaTeTESe AT i A 3 e & forg e & 2

Anarobic events up to 30sec.

A | Sraredia st 30 Gos oo
Anarobic events up to 1 to 2 min.

B | Sraracia st 1 @ 2 e o

c Endurance performance 5 to 10 min.

e UerH 5 ¥ 10 e do

D | Endurance performance more than 30 min.




|ﬂ3ﬂ%ﬂ?¥h3oﬁrﬁ€ﬁ&®$

Answer Key: D

Q54 Increased muscle glycogen achieved due to carbohydrate loading is retained by the body for a maximum period of-

FAREIEST AT gRT AU eI Tfafafy & gfe sifiian frdm Tvg g SRaRR /A B 2

24 hrs

246

24 to 36 hours

24P 36°C

1 - 2 days

1-2f¢ad®

2 - 4 days

D
2-4fcad®

Answer Key: D

Q55 70 - 80 % resistance in the intensity zone of strength training is considered -

T d UTRTETOT & 70-80% HARNY TigdT 1 fobd S & HFT ST @ 2

Light

ST

Medium

HYY

Sub - maximum

3 - 3w dH

Maximum

D&rfﬂwn

Answer Key: B

Q56 Intensity of training load is indicated by the symbol -

TR0 HR P g &l Tad B a1dT Ui fog -

&

D

&

Answer Key: A

Q57 The ability to overcome resistance with high speed is

I A SHIRY P g B &HdT T hgldl 82




A | Maximum strength

3fYHdH dred

Explosive strength

5 e ama
Endurance strength
¢ REERIESKGICE|
Strength strength
D

dlehd dihd

Answer Key: B

Q58 During contraction when the length of muscle increases it is called

ArgoRf Y H Jd AUl & daTE ded § O YpT F HEard g ?

Eccentric contraction
A facemr dpa
B Concentric contration
Auxo - tonic contraction
© | o<t s
Static - Muscle contraction
D AR 7T W

Answer Key: A

Q59 The ability to maintain maximum speed for maximum possible duration or distance is

Sfferera T Y Sifiman Sraftr a1 gt I ST G Bt &HdT Y T Had 82

Speed duration
A e rae
Locomotor Ability
5 [feta &
Movement Speed
© lamar
Acceleration Ability
P AR & HdT

Answer Key: B

Q60 Ifreliability coefficient of a skill test is between 0.75 to 0.79 , then the reliability of the test is

3[R U IR GHEUT BT FI4G-ar Torieb 0.75 F 0.79 & T B ol UKI&01 1 fae-raan o gt

Very good

CRSEES]]

Good

3BT

C | Acceptable




Sican]

Poor

P e

Answer Key: D

Q61 Which of the following is not a test item of Barrow Motor ability test ?

5 B Q1 1 g SR HIeR &1 UL BT U g T8 @

Standing Broad Jump

TS B el B

Zig - Zag Run

ISURCIIEG]

60 - yard dash

60 - TSI ArS

Six - pound medicine ball put

Sl PR Er=e———

Answer Key: C

Q62 An instrument for recording the work done by a muscle or group of muscle is known as

Aot a1 ARORET & T4 gRT 50 T S B RBTET B aTd IUHR0T ST T A § 2

Ergo graph

T A%

Stediometer

wlsgmiex

Dynamo meter

SIHH Hiex

Mano meter

D

A Hiex

Answer Key: A

Q63 The degree of uniformity with which various persons score same tests is known as

3T - 3T Ao o FHMAT B ST TV Teh TRNe0T IR TR Hd & I8 T Headldl 82

Reliability

Ayt

Objectivity

fAwgerarearn

Validity

GGl

Parallel form Reliability

b AR faya-raar

Answer Key: B




Q64 Which of the following is not a test item of Oregon Motor Fitness Test ?

9 A A B 1 R ey o BT 3HZeH T8l &2

Standing broad Jump

TS B del Hg AT

Floor - Push - ups

BR IR-3

Sit - ups

Rye-3m

Zig-Zag run

b S-S

Answer Key: D

Q65 Which of the following is not a test item of Indiana Motor Fitness Test for College men ?

e & A B 1 Dl Go! & 7T SFETT Hiex ftheng 2w &1 3geA Td & -

Pull - ups

T4 - 3

Floor - Push - ups

HR G - 3

Sit - ups

e - e

Vertical - Jump

D —
LK

Answer Key: C

Q66 Wet spirometer is used to measure -

e TWRRIHCR &1 7T e 7 3 foeges Ao & ford frar Sran g 2

Lung capacity

TSI P &l

Heart capacity

BGY B &

Muscular tension

AgulRE & a99

Bone strength

D

&feal 1 aed

Answer Key: A

Q67 Spearman - Brown Prophecy formula is used to predict

WRAA-513 Hfasgaroht @ forg ) Higsgamft sxar g -

Reliability of the Half test on the basis of whole test.

Y TI&0T Bt FAYI=Taar X URI&0T & SR IR

B | Reliability of whole test on the basis of half test.




TR GR1&I07 1 faR=iiaraT S8 URI&ur o SR IR

Validity of the test.

URYeruT Y derar

Objectivity of the test.

Py ——

Answer Key: B

Q68 2024 Summer Olympic games will be held at -
2024 & YTSHSBTEM et Well BT SIS B8l BT 2

Paris

Ry

Tokyo

il

Bejing

i

Los Angeles

D ——
A Toleq

Answer Key: A

Q69 In Broer - Miller Tennis test, rope is stretched above the net at a height of .

SR-Arer 29 udeo & Ae ¥ W fraf S aft i &

4 feet

4le

5 feet

5l

6 feet

6 i

7 feet

D7u‘ﬂ€

Answer Key: A

Q70 Which of the following is not a test item of [OWA Posture Test ?

g A QA S 1 3H1STH al DR S H1 HEeH Tal 82

Foot Mechanics

W it

Standing

gs gl

Stooping

ECall

P

D | Toe touch

TR Y Sfell 1




Answer Key: D

Q71 Mc Call score is
TP A R G -

Z - score

S - R

Sigma - score

T - R

Hull - scale

T - R

T - Score

D

&-¥R

Answer Key: D

Q72 The dimension of basketball court is -

SRbesTd BIS BT A A BT e -

28m X 15m

28m X 15m

28m X 14m

28m X 14m

26m X 15m

26m X 15m

28m X 16m
D

28m X 16m

Answer Key: A

Q73 The inaugural match of FIFA world cup 2018 was played between -

BT fa%d Y 2018 BT Ugal H fobTo Her Tl 717 T 2

Russia and Saudi Arabia

¥ T4 931 3RF

Russia and Uruguay

¥ T4 3=

Russia and Egypt

¥y Ud 2o

Egypt and Uruguay

P 3o Td 3=

Answer Key: A

Q74 Which of the following is not a criteria for the selection of Test ?

PufifEd 7 A SH 91 T Uer qHe ULeu ST HHES T8l 8 2

A | Objectivity




ERSIEEE]

Validity

CEGl

Reliability

[EEREICKI

D

Subjectivity

CESIBEGI]

Answer Key: D

Q75 Which of the following is not a method of measuring reliability

fFrafafad & 3 S @ faft fayaeiad aom &1 =781 8 -

Test Retest

[

Split half

feufere g1oe

Parallel form

NAd BrH

D

Chi - square

PIS W

Answer Key: D

Q76 Which of the following is not a test item of J. C. R test ?

AR B S I 2% SM1SeH A W3R, K FHT 3MeH 11§ 2

Vertical jump

géford S

Chin-ups

fA-3g

Sit ups

e areg

D

Shuttle Run

Yeda A

Answer Key: C

Q77 Sitand Reach test is used to measure -

e te 9 2 frgeT A HRar g2

Muscular strength

TRGHR Y

Cardio vascular endurance

FISTINRDH R Tre

Flexibility

NEINICE




D

Power

RUES]

Answer Key: C

Q78 Which of the following is test battery of Johnson Basket ball ability Test -

fAAfiRad 7 ¥ o1 T 3 9t S8 I eaid Ufafad e 8-

Field goal shooting, throw for accuracy and dribbling

Foot work,throw for accuracy and dribbling

pedd, i R TRl ud fgafef

Field goal shooting,dribbling and dodging

TS e S, Feafei wd ST

D

Dribbling, shooting for accuracy, dodging and throwing

Answer Key: A

Q79 Which is not a test item of SAI hockey test -

9 & B AL gl Tfiemr o1 iewa TEt 8-

Shooting in target

RIIES TR

Balancing the ball

ERIGUEIN]

Moving with the ball

afe fau g st

D

Scooping in the target

WU 39 & TRIC

Answer Key: D

Q80 The psychoanalysis method was propounded by -

TfaRay T faftr 1 ufqure fean g -

Adler

Usi

Eysenck

3Sich

Freud

E3ES]

D

Thorndike

YHERH

Answer Key: C

Q81 Who is known as the father of sports psychology ?




A A § fHd W g &1 SH6 AFTSITar g 2

Colman Griffith

Fiaaq ey

Robert Singer

e RTR

Cratty

el

Williams

-

Answer Key: A

Q82 Surplus energy theory of play is propounded by -

| & iy It Rigia @1 ufaure e fvarg 2

Von Schiller

CIGRRISEY

Carl Groos

Prct 74

Stanley hall

W gl

White Patrick

D

are Ufew

Answer Key: A

Q83 Problem solving comes under -

AL gAY fgep & idqifd mdr g 2

Cognitive learning

TS a1

Affective learning

YT S HRGT

Effective learning

HTdT IRaAT

Spontaneous learning

P - Td SRaAT

Answer Key: A

Q84 In sports psychology mental practice means

Bl TR & AFRYS 3namg &1 o g & -

Mental planning

AR TS

B | Mental rehearsal

ARG ganarg




Mental strategy

AHARIS IO

D

Mental image

AHR® 3

Answer Key: B

Q85 Sociology of physical education is -

RN R1ef 1 FH1foie fam w1 g 2

A branch of Anthropology
A T [EEIECIRIe]]

A study of the society
5 HHIS T AT

An analysis of sociological processes involed in the institutions of physical education
© | it e 1 ol & g SRR w51 e
D A science which studies primitives of societies

T fagm oY SnfeaTei THTSI 7 30T Hdl &

Answer Key: C

Q86 Son of a rickshaw puller struggles and becomes an olympian. This is an example of -

T R &1 I oy 6dl § 3R e SNfRa s SIdl € I8 Teb IaeU § -

Social stratification

gl e
Social adjustment

B o v
Social cohesion

© o s @
Social mobility

P et e

Answer Key: D

Q87 First central sports university in India is stablished at -

HRA & UYH B9 W [Azafdeerd & R Hel b1 TS © 2

Imphal
A

SHEPTA

New Delhi
B

S et

Bhopal
C

Hiard

Shillong
D

e

Answer Key: A




Q88 Pierre de Coubertin Medal is awared for -

R & perd Hsd frues fed fear Srar § 2

Sportsmanship

W HIGHT

Sports achievement

W Iudrs

Talented athletes

ISgHH Tyfere

Disciplined team

D

SR A

Answer Key: A

Q89 Who gave the self efficacy theory of personality -

forem et Yl ARY 3Hfth gferet df -

Carl Rogers

BT ST

Georg Kelly

Sifl peft

Abraham Maslow

SSTEH ARl

Albert Bandura

D

3feTC Sg

Answer Key: D

Q90 Olympic flag is based on a model designed by Pierre de Coubertin in -

3 @ o1 Hied fesg IR §f $aRdH gRI %a daR fawar T o1 2

1914

1914

1915

1915

1916

1916

1917

D

1917

Answer Key: A

Q91 Who produced the catharsis Theory of Play ?

forem HUYRRT R offth @ I fd &1 2

Aristole

SR




B |Plato

@il

Bernard
C

CEIF)

Karl Groos
D

I I8

Answer Key: A

Q92 Three second rule is associated with which of the following game ?

0 avs Frm e 7 9 fore et 9 Haifa g 2

Badminton
A [aehie
Ice hockey
B »
3 leb!
Basketball
C EN——
Table Tennis
P [eqmerm

Answer Key: C

Q93 Inlearning , the law of effective is given by -

e ®, uura &1 e feam fear 2

Pavlov
A
BICHIG]
Thorndike
b PSR H
Kohler
C S
Watson
D
drcd-d

Answer Key: B

Q94 Psychology is a science of

AR forgent fag & 2

Human behavior
A o emer
Human work
5 e
Human Personality
¢ A4 Sfckicd
D |Human action




|nﬂam

Answer Key: A

Q95 Which of the following is not a law of learning proposed by E. L. Thorndike?

79 & 9 & &1 $.ud A SIS g1 fedl T e &1 e el 82

Law of Readiness

GREGIEIRREE

Law of exercise

3T &1 g

Law of effect

UHTd &1 g

Law of action

b forar &1 fAgw

Answer Key: D

Q96 Which of the following is not a theory for transfer of training?

9 1 19 I ufieon § R &1 Rigid T8l 82

Identical Elements theory

A ded Rigid

Two Factor Theory

3 PR Rigid

Theory of conscious ideals

Tad 3Mex Rgid

Theory of Basic elements

D

YRYJ da gl

Answer Key: D

Q97 According to Big five personal traits , a person high in neuroticism shall not possess one of the following -

Hfkicd o Ui g AN & SHTHR, forg Ao & FRICRISH &1 &R 3ifties g1 39 H 49 & I a1 =181 uran Siral

Emotionally unstable

HIGATHD AT

Moody

i

Anxious

feifera

Assertive

D
Tedl

Answer Key: D

Q98 Which law of learning is also called the law of use and disuse?

e B @ Frem & g a1 SuaT @ik gouin &1 gy +ft ped 82




A |Law of Effect

UHTd &1 a9

Law of Exercise

3T T g

Law of readiness

Tt &1

Law of intimacy

D —
AT BT FAgH

Answer Key: B

Q99 Through which of the following methods, desirable channels are provided to release the emotional energy?

9 o J f5g TP S A1eaH Q HIGTTHS ol bl IRT B P [T IT5-10 Idd UeH fobar Sirdr 82

Sublimation

JfeduTah

Inhibition

3ERNY

Repression

QHAT

Catharsis

D

FUR

Answer Key: D

Q100 Which of the following is not the key concept of deveploment of group dynamics?

famra=ia wig &1 nfaiear 8 g & 9 HH- siguron dgayuf 78l 2

Conforming

HABIHT

Storming

i

Forming

I

Developing

DEE.

Answer Key: D

Q101 Thyroid gland is situated at -

YRRTTS TS RIT B & -

At the top of each Kidney

JHd B HW

Below the stomach

STHIRY &

C | Pelvic cavity




Ufcdre bfdct

Throat

D

el

Answer Key: D

Q102 In which part of body Sartorius muscle is situated?

IREINTY ARURT TRR & g Ui ARG g & -

Thigh

Sy

Upper arm

T BT HU YT

Lower arm

CISGCARESIRN ]

Lower leg

D

fereret e

Answer Key: A

Q103 The heart muscle is called -

T T B FEa § -

Pericardium

PRCAIRRE

Endocardium

tSHifeay

Myocardium

AieIfsaH

Epithelium

D

4EIRINRE

Answer Key: C

Q104 Which is the most rare blood group?

o foReT T GHg BT A I & -

A Rh+

A Rh+

AB Rh+

AB Rh+

AB Rb-

AB Rb-

B Rh-

D

B Rh-

Answer Key: C




Q105 Energy containing organic chemicals formed as a result of the incomplete breakdown of fat is called -

G P 3N e P URUMT WEY Sl Soll ot SRAT IR ST § I8 1 Helll 82

Ketosis
A
P
Ketones
B
Fle
Lactic acid
C
dfdes ths
Liposis
D
o

Answer Key: B

Q106 Highly nutritious pulses, especially rich in carotene and some vitamin - B are

ARy T IR R $o erftq-&f I 9 3= NidH <re 71 Heard 82

Niacin
A

IBRIRE]

Lentils
B

SRIESS]

Pica
C

Ut

Saponins
D

Jofa=g

Answer Key: B

Q107 Researches have shown that exercise training causes decrease in
. (i)HDL

(i) LDL

(iii) Total Blood cholesterol

(iv) Triglycerides

Ty A e § i snara uiieor @ g 8§ 9 55 & ot et 32

(i) HDL

(i) LDL

(iii) T 9 DI

(iv) SRIeRRTS S

N (), (iii) & (iv)
(i), (iii) 3R (iv)
(i) & (iv)
B
3R (iv)
(ii) & (iv)
C
(if) 3R (iv)
(i), (iii) & (iv)
D
(i), (iii) 3R (iv)

Answer Key: D




Q108 which of the following hormone is secreated by the Posterior lobe of Pituitary gland ?

e & 9§ fb gl o1 91a fUeged 9 & Nod da A gare 2

Growth Hormone
A [qrem
Thyriod - Stimulating Hormone
B
YRRTZS ISP HM
Antidiuratic Hormone
¢ TRSIqfes grHiA
Prolactin
D
Uraifaed

Answer Key: C

Q109 A trained person exhibit elevated hormone response during exercise for.

T UfRIfEd cafed o S & SR fhd g &1 &R §¢ T g -

Testosterone
Insulin
B ~
Prolactin
C
Uraifaed
Cortisol
D
Fifcga

Answer Key: D

Q110 A trained person exhibits depressed values for which of the following hormone during exercise?

Toh URIfEd cafed o SO & SRM hd g &1 TR HH Sl g -

Aldosterone
ACTH
B
ACTH
Testosterone
Angiotensin
P Tt

Answer Key: C

Q111 Amphetamines are

UfRpCTHS Y 1 57

Stimulant

Iioieh ard

B | Lipoprotein




ferdioc=

Anabolic steroid

SATEIfAR WIS

Buffering Agent

D

THRA Tole

Answer Key: A

Q112 Immediate responses to altitude training does not include

$aTS UIRI&0T & debTd g1 arelt ufafshan 7 e § Q18 g1l o

Hyperventilation

Sffqararg=dn

Body fluids become more alkaline

ARSI Uerf 1 &g o o1 &

Increase in sub maximal heart rate

3JU-31fHad ged TMia & afg

Maximum heart rate is lowered

b 3fIHaH gag TIfd H HHT 3T

Answer Key: D

Q113 Food in the presence of O, is broken down to CO, and H,O with liberation of chemical energy by a metabolic process known as

WIS 0, BT JUfUFRI T O, 3R H,0 T ge ST § 3R Irafie It fAead § | 59 Iaraag Ufehan & a1 Hgd 82

Respiration

ChE|

Anaerobic glycolysis

TARITS® TATSHITARN

Aerobic glycolysis

WIS gD IR

Metabolism

D
ERIEEL)

Answer Key: A

Q114 Net production of ATP from a stearic Acid (18 - cardon chain fatty acids ) is

T WIARE S (18-FHTE AT BT T 347 F $ fha ATP TG -

147
A

147

140
B

140

135
C

135

144
D

144




| Answer Key: A

Q115 The study of the physical laws that govern blood flow is known as

Iad UaTg &) Frif3d o3 ara Wifde g &1 3rem 1 pearar g 2

Blood dynamics

o TR

Haemo dynamics

EEIRIGRIGG

Heart dynamics

ERRUSRIRK

Cardiac ability

me

Answer Key: B

Q116 The percent saturation of Hb with O, (% SO5) is calculated by
05 (%S0,) B Hb ¥ YT G BT T0FT B Biell 82

0, actually combined with Hb
O, capacity of Hb

X 100

0, actually combined with Hb
0O, capacity of Hb

X 100

0O, capacity of Hb
0, actually combined with Hb

X 100

0O, capacity of Hb
0, actually combined with Hb

X 100

0, capacity of Hb
Total O; in the blood

X100

0, capacity of Hb
Total O, inthe blood

X100

Total O, inthe blood

0, capacity of Hb A

Total O, inthe blood
0, capacity of Hb

X100

Answer Key: A

Q117 Skeletal muscle fasciculus are covered with

SHepTd B HIGURRN B ferepT i § PR BT g & 2

Endomysium

TSIHREH

Epimysium

SRy




C | Perimysium

DLyt IR

Endo - epimysium

D

TSI SRy

Answer Key: C

Q118 Where is Glenoid cavity found in human body ?

AT TRR A T3S 8T el (U gt § 2

Ulna

AT H

Scapula

Wy g

Sternum

TH b

Acetabulam

D

wHifegem

Answer Key: B

Q119 Largest part of human Brain is

AT TRRT & Jad 987 few 2 -

Cerebrum

Jfafan

Pituitary Gland

Rreed oo

Visual lobe

fagjera dla

Motor Unit

D

AR gfe

Answer Key: A

Q120 In which City the pull of gravity affects the most in the sports performance?

b X8R A TSQTDYU BT THTT Tel Ui+ W Faifdled 8

Beijing

ST

Moscow

!

Mexico

Afcrp!

Paris

P e

Answer Key: C




Q121 Step down the mechanical phases of Kicking

fobTchTT b1 AIHBIY SERIT DT TRUI TG B -

Stance, Back lift, Kicking, follow through

Back lift, stance , Kicking, follow through

Kicking , Back lift, stance , follow through

Back lift, kicking, stance, follow through

D

Answer Key: A

Q122 Mechanics is the branch of
i) fhae! ARaT g -

Kinesiology

YRR 7If fagm

Sport Biomechanics

T oig fagm

Physics

Wifere!

Movement analysis

P I fareawwr

Answer Key: C

Q123 Change in place or position of an object or body is called

fpaft <fie a1 TR &1 =M Ud fRufa § uRada seamars -

Force

9d

Motion

i

Friction

BRl

Momentum

D

Ha

Answer Key: B

Q124 Newton's First law of Motion is

e P TS BT IuH Fga § -

Law of Inertia

Sed & HaH




B |Law of Acceleration

@R &1 e

Law of Action and Reaction

foran ufafosar &1 fAgw

Law of Displacement

b forimga &1 |

Answer Key: A

Q125 Which of the following events does not involve projection

9 5 319 3 $3= H AU BT ST el giell -

Javelin Throw
A o
Shot put
P [farw
Discuss Throw
e -
20 km walk
P Lo e e ama

Answer Key: D

Q126 Force of rotation is called
9 YU BRI -

Lever

RisINED

Torque

§a 3o

Fulcrum

SIS

Gravity

D

TS@IHYUT

Answer Key: B

Q127 Kinematics is the science of -

FrEARRTY fhgew! g § 2

Friction
A
gfoy
Motion
B
T
Force
C
o
D | Floating




iNCE

Answer Key: B

Q128 The force resisting the relative motion of surface sliding against each other is called

U §d Il Gl ddl & o1 TTuféies WY 1fd &7 faRIY A1 8, I8 e § oo,

Friction
A

Bl

Coupling
B I~

DI

Impulse
C

U

Drag
D 3"'[

Answer Key: A

Q129 Which of the following muscle is not present on the posterior side of glenohumeral joint ?

5 7 4 S A At HIgERe oS & fsd T H 781 urg Wi § 2

Posterior Deltoid
Infraspinatus

b SIHIRATCY
Teres Minor

C
G HIER
Biceps

P TR

Answer Key: D

Q130 Which of the following ligament is situated within the knee joint capsule ?

5 & 4 14 1 foerre ge & Siis & Wy H Ul STl 6 -

Tibial collateral ligament

fefoaa dufye fermite

Oblique popliteal ligament

3fffeetep Gruferciel femme

Anterior cruciate ligament

JdohTd HiRie fermie

Transverse ligment

D e e

Answer Key: C

Q131 Which of the following is not an example of Rectilinear Motion?

g 7 3 o ar eefa R nfa &1 IR T8 82




Rope climbing

IR e

100m sprint

100 HY. AT A SIS

Jab in boxing

TqahaTstt # ofg ARAT

D

Discuss throw

IJaH] b

Answer Key: D

Q132 Which of the following are correct"

(i) Kinetic Energy = 1/2 mv?
(ii) Potential Energy = 1/2 mgh
(iii) Work = Force / Distance
(iv) Power = work / time

e Ao ae 82

(i) Tt Fotf = 1/2mv?
(i) RS St = 1/2 mgh
(iii) BT = FA/GH

(iv) Tfad = B / g

Only (i) & (iv) are correct

Fad ()R (iv) TET &

Only (i), (i) & (iv) are correct

FId (i), (i) 3R (iv) T&1 &

Only (ii) & (iii) are correct

HId (if) MR (iii) TS 8

D

All (i) , (i), (iii) & (iv) are correct

¥t (i), (i), (i) 3R (iv) TE @

Answer Key: A

Q1 33 Factors determining rolling friction are

(i)Nature of ball and surface
(i) Weight of ball

(iii) Diameter of ball
(iv)Air pressure of ball
(v)Surface tension

AT ofur FeRu % sRS Fg A A AR
(i) et 3R T8 B Ul

(if) ST BT HR

(iii) STd BT T

(iv) 91 § 84T T ga1d

(v IRBY ¢TH

(1), (i) & (v)

(i), (i) T (v)

(i1), (iii), (iv) &(v)

(i), (i), (iv) T4 (v)




C | ®, (i), (iv) & (v)

(@), (ii), (iv) T (v)

(1), (i1),(iii) &(iv)

D

(i), (ii),(iif) TG (iv)

Answer Key: D

Q134 Coronal plane divides the body into -
BRI dd IRR Y food YT & ST 82

Right and left halves

FIMEIRE S

Anterior and Posterior halves

3T IR e e

Upper and lower halves

IW 3R e gw

Medial and lateral halves

D

Hifsae 3R dexa fe

Answer Key: B

Q135 Adduction of the humorous is not done by

EARRY P qHUBY b P gRI e Bl 8 -

Latissimus Dorsi
A [ erfereame et
Teres Major
e
Sternal portion of pectorialis major
© [t TR @ @ e e
Supraspinatus
D
GREEAH

Answer Key: D

Q136 Muscle found on the anterior part of hip joint doesn't include

A A o I 7ud RUSis & R & orma Rl A =i ur Sran g 2

Iliopsos
M i
Pectineus
B
Afgefrog
Tensor Fasciac latae
C
TR BRET e
Gracillis
D
PIRINE

Answer Key: D




Q137 Which of the following is / are correct?
(i) Speed is a scalar quantity
(i1) Displacement is a vector quantity
(iii) Average Acceleration is a vector quantity
(iv) Weight is a vector quantity

IEERR KTk e

(i) 37T Ueh TpeR AT ®

(i) foRITT U JgeR AT B
(iii) 37T @RV U Jex HIET §
(iv) HR Uh daeX AT &

Only (i) is correct.

Had (i) TET

Only (i), (i) and (iii) are correct .

FId (i) , (i) 3R (iii) TSI &

Only (ii),(iii) and (iv) are correct .

P (ii),(iii) 3R (iv) T &

All (1), (ii), (iii) and (iv) are correct.

D

T (i), (i), (i) R (iv) TET &

Answer Key: D

Q138 Which of the following is/are correct?
(1) weight = Mass x Acceleration due to gravity
(11) Momentum = Mass x Velocity
(iii) Impulse = Force x Time
EEEEEIEEA R
(i) YR = ZTHAM x TE@IHYUT BT @RI
(ii) a7 = GHHM x T
(iii) 31T = § x TG

Only (i) is correct
A

EERIOREK)

Only (i) & (ii) are correct
B

Fad (i) 3R (i) TE1 §

Only (ii) & (iii) are correct
C

FId (ii) 3R (iii) Ta1 &

All (i), (ii) & (iii) are correct
D

a1t (i), (i) 3R Giii) TE &

Answer Key: D

Q139 Which is not a dimension of Eysneck's personality test?

fRofRad 7 @ o 3o Afdid URI&T &7 3T 81 § 2

Psychoticisum
A B IERCAGRISES
Extravertion
5 TaRICTdo




C |Neuroticisum

RGN

Intelligence

D

v

Answer Key: D

Q140 Which is not a symptom that indicates towards over load?

FAIUR BT 3R B 1 A0 S T prar @ 2

Colour of skin strongly red

CEIEIEUR ENRIE NI

Feeling weakness in muscle

UM SHGRT T8y AT

Profused sweating

SIS G ST

Pleasant feeling

D

U o g1

Answer Key: D

Q141 AIDS is caused by -
TS BT HRUG -

T.B.

&

Hepatitis B

gUersfeq st

Leprosy

eIk

HIV virus

b U938 dt, IRy

Answer Key: D

Q142 Sun light is source of which Vitamin ?

T &t Rl frd feftm s & 2

Vitamin A

ICIEERY

Vitamin B

[EEUEEE]

Vitamin D

faeri St

Vitamin C

i r—

Answer Key: C




Q143 Major Constituent of balance diet is ......

Tferd SHTER BT U e ... 8

Carbohydrate

PraEEge

Protein

ICiE]

Vitamin

[ECUEE]

Fat

D
aqr

Answer Key: A

Q144 Whirlpool is also called
qeqd &1 T8 N HETAC S -

Hydrotherapy

HESION]

Thermotherapy

YRHIRYY

Cryotherapy

HTARY

Electrotherapy

P [maire

Answer Key: A

Q145 Kyphosis is also known as-
HTABIRN BT 3 A F Hf ST AT -

Curved Back

Ui o gaa

Hallow Back

GEIEE

Round Shoulder

RIRERIIET

Lateral Back

b s BT ST A

Answer Key: C

Q146 What is used by the wrestler to increase the muscle mass?

A 7Y &1 g & e 2t & Raare foog 9 o Suar a8 2

Anabolic steroids

LGICIRERGNESS




B | Stimulant

e

Narcotics

Trepifeag

Dieuretic

D

feafeay

Answer Key: A

Q147 Scurvy is caused due to the deficiency of -

S fhae! HHI GBI § ?

Tocopherol

BRI

Retinol

Xfedta

Ribolflavin

REIESICE

Ascorbic Acid

D

TwhITa® TRIS

Answer Key: D

Q148 Recommended Dietary Allowances of vitamin A for Adult are -

feTir -q 1 U qoe o forg SrgRifyd omeR e H q &

0.2 mg

0.2 firelt e

0.4 mg

0.4 et a9

0.5 mg

0.5 et umw

1.0 mg

D
1.0 foreht o

Answer Key: D

Q149 Muscle cramps are caused due to the deficiency of -

#igufE te o & A g ol ol F PRUBN B 2

Calcium

Ficrrw

Phosphorus

BRGRY

Sodium

gifsaw

D | Magnesium




TREH

Answer Key: C

Q150 Rapid heart rate at resting position is -

IRM & RN A geg i sl digT S R Hea g 2

Systocardia
A e

Bradycardia
b semea

Tachycardia
€ [efwe

Accardia
D

3RS

Answer Key: C

Q151 The "thermostat" for temperature regulation of human body is located in the -

AT IRR BT "YAREe" S dYHA BT A w = Srd1 g ST U Sdi g 2

Medulla Oblongata
A e
Peripheral thermal receptors
P O et e
Hypothalamus
© [erediama
Spinal cord
D
ERTAK

Answer Key: C

Q152 Scoliosis commonly develops in the area -

IR THd: b @7 H 8l g -

Neck
A [
Lumber
B
IR
Between thoracic and lumber
© [qu e e b &
Between cervical and thoracic
P [t e p dra

Answer Key: C

Q153 The deformity of thoracic spine becoming C-shaped curve is known as -

IRR &1 fagpfa forad a&r I &1 551 ¢-& 3MHR BT g1 Sl & ol T Head g 2




Lordosis

A
Kyphosis
B
PpaSUq
Scoliosis
C
whifernid
Osteoporosis
D

SRR

Answer Key: B

Q154 An injury to a ligament resulting from overstress is known as -

3Ry 7 3 fFarg & HRUIEH T Tie T el g 2

Sprain
A
o
Strain
B
PRIREEIC]
Contusion
C
@
Haematoma
D

RedeH

Answer Key: A

Q155 Type of fracture in which a bone is broken into several pieces is

ThaeR BT UHR foraH 831 &% chel A ge Sl & SY T Hed g ?

Green stick fracture

M | e o
Compound fracture

B s afeni
Comminuted fracture

© [Faeefisa offenin
Simple fracture

D

TIYROT SRR

Answer Key: C

Q156 Which of the following is fat soluble vitamin ?

9 & 9 S a1 g § gem=ia faertdq g2

Ascorbic Acid
A TIHIeH RIS
Tocopherol
B
DI
C | Thiamine




IREIEE]

Pantothenic Acid

D

EECRIEEAURK]

Answer Key: B

Q157 The main purpose of the pre-game meal is to provide the athlete with adequate -

WA Y Ugd & HioH P 7 Aed FIanSal & IR A1 H 1 S graT g 2

Protein

EICiE]

Carbohydrate

PTEIRSC

Vitamin

faerta

Fat

D
adr

Answer Key: B

Q158 Prior to energy release from fat, the triglyceride molecule breaks down into Glycerol and fatty acids in the presence of -

1Y Io1t e T Ued CiReRRIgS fohg o1 Jufufa §f emsRRie iR el tRis A gearg 2

Coenzyme A

PIgoMsH A

Acetyle COA

Tfersd coa

Lipase

SERE

Coenzyme B

D

DISE B

Answer Key: C

Q159 When athletes use several different types of steroids at the same time it is known as -

e U fOdTe] U &) 9HT IR S UBR P WSS BT SUINT HdT & dl S8 AT Hed g 2

Cycling

IgFAT

Stacking

T

Pyramiding

URrifET

Mixing

Dﬁr&m

Answer Key: B




Q160 Which of the following vitamin does not posses antioxidant property ?

9 7§ fog faertm 7 tdenaiise &1 fadvar g g 2

Beta carotene

dfter prife

Vitamin A

[ECUEERY

Vitamin B1

[EEIEEKI!

Vitamin C

D

farerfa €t

Answer Key: C

Q161 Maulana Abul Kalam Azad running trophy was instituted in the year -

HIETHT 3G B SHTOG (T ¢! o ad URY g8 2

1956-57

1956-57

1948-49

1948-49

1962-63

1962-63

1960-61
D

1960-61

Answer Key: A

Q162 The weight of men's javelin is
&Y HISTheh H HIQ & gl fhd-T giaT § 2

600 grams

600 UTH

700 grams

700 UTH

750 grams

750 UH

800 grams

D
800 UTH

Answer Key: D

Q163 The sector angle of shot put is .....
Tfege & Jaex HT S0 fHd-1 giar 82

34,920

34.920

B [43.920




43.920

36.920

36.920

32.920
D

32.920

Answer Key: A

Q164 In 4 x 100 meter relay race , the acceleration zone is .....

4 x 100 Hiex ¥ Sis 7 Rufig &= fd-n g

8 meters

8 Hlex

10 meters

10 Hex

12 meters

12 "R

14 meters

D
14 Wi

Answer Key: B

Q165 Who defined Physical Education as "Physical education is that phase of the whole field of education that deals with big muscle
activities and their related responses"

"R e, e % OX &1 1 98 =RU1 S S St AUk a0 il ok 3% Irier ufafthar I Tefid 7 Uy
giRuTeT farem & 8 -

Thomas Wood

U 43

H. C. Buck

ek IACED

J. B. Nash

EIRER]

C. A. Bucher

D
T R

Answer Key: C

Q166 Developmental objectives of physical Education (i) organic (ii) neuromuscular (iii) interpretive and (iv) emotional were given by

RIS e & fawr & Ie=(i) SHfae fAeT (i) TRIFRG TR (iif) ARATHB 3R (iv) HIaTHS g A I fpaa flea g 2

Cowell aand Schein

HIAd 3R Th

J. R. Sherman

3R RAHT

C. A. Bucher

W R




D |J. B. Nash

SR

Answer Key: D

Q167 In the first modern Olympic game the number of sports were

UgS YD 3t H fba @er 4 2

9

9

10

10

11

11

12
D

12

Answer Key: A

Q168 Lakshmibai National college of Physical Education was established in

et P IRIRD Rian weifaareT &1 UM $d g3 @

August 21, 1960

ST 21,1960

July 21, 1961

TS 21, 1961

July 17, 1962

IS 17, 1962

August 17, 1957

D
S 17, 1957

Answer Key: D

Q169 RajKumari Amrit Kaur coaching Scheme was started in the year

JSHHRT SFADH R URI&0T ArerT iy au #f [R= g3 2 2

1951

1951

1952

1952

1953

1953

1954

D

1954

Answer Key: C

Q170 Dronacharya Award was established in the year.

IV R & TR fobd T &2




A | 1980

1980

1981

1981

1982
C

1982

1985
D

1985

Answer Key: D

Q17 1 Which of the following is/are correct ?
(i)Badminton Racket Frame length 680 mm and Width 230 mm
(i1)Shuttle cock contains - 16 feathers
(ii1) The base of shuttle is 1.35 to 1.65 inches in diameter.

e A I e TR g 2

(i)-SsfieT & Yhe & H DI TS 680 . 3R TSt 230 . B =13
(ii)-RTCT B H 16 U g AT |

(iii) T PP & YR &1 AN 1.35 Y 1.65 59 g1 A3 |

Only (i) is correct

Had (i) T g |

Only (i) &(iii) are correct

Fad (ii) 3R (iii) TS B

Only (i) & (ii) are correct

Had (i) (i) TET B

All (i),(i1)&(iii)are correct

D

T4t (i), (i) 3MRGii) TET B

Answer Key: C

Q172 Which of the following is/are correct ?
(1) Length of the cricket Pitch is 20.12 m
(i1) Height of the cricket wicket is 72.2 cm
(ii1) Term "Lead - off " is related to cricket.

A I e TR I 2

(i)-fopdpe fora 1 oS 20.12 1. BT 81
(ii)-fopdre Pt fadre ot a8 72.2 T Bt
(iii) T3’ oS 3HTp fbope ¥ Tafdd g1

Only (i) is correct

Had (i) T8I 5 |

Only (i) & (iii) are correct

Fad (i) 3R (i) T B

Only (ii) & (iii) are correct

Fad (i) 3R (iii) TS B

Only (i) & (ii) are correct

D
4t (i) 3R (i) TR

Answer Key: B




Q173 Which of the following is/are Correct ?
(1)Weight of the football is 430g to 460g.
(ii)Circumference of football is 68cm to 72cm.
(iii)The term "blind side" is related to football.

ErE R EaCkC R

(i)-PeaTd T IOl 430 T I 460 TTH g1 A1 |
(ii)-Ppeard &1 IR 68 T, T 72 I g ART|
(iii) Veq; ‘1SS TZS' Pead I Yafid g

Only (i) is correct

Fad (i)Te! |

Only (ii) is correct

Had (i) Ta! g

Only (ii) & (iii) are correct

Fad (ii) 3R (iii) TS B

Only (i) & (iii) are correct

D
a4t ()3MR Giii) TE B

Answer Key: C

Q174 Which of the following is/are correct about Kho - Kho ?
(1)The distance between two adjacent squares is 250cm.
(i))The distance between Posts is 23.50m
(iii)Circumference of the Post is 130 - 135 cm

G R ARk S RC kT K K R

(i)-TY aTet &1 il bt gt 250 V. I B
(if)-TRC! & o B g1t 23.50 Hex BA B
(i) URe BT TR 130-135 . St 21

Only (i) is correct

Fad (i)9e! |

Only (ii) is correct

Had (i) Ta! g

Only (ii) & (iii) are correct

P (ii) 3R (iii) TS B

Only (i) & (iii) are correct

D

a4t (i) 3R (i) TS B

Answer Key: B

Q175 There are Eight stages of Yoga to secure purity of body, mind and soul, out of these stages the meaning of yama is

IRR, T 3R AT BT Yfee BT PRI HA & AT AT & 375 RO AR A A TH T 3 §

Meditation

1215

Self - realization

RERURIIR]

C | Social discipline

TSI SR




Discipline of senses

D

g~ 1 SR

Answer Key: C

Q176 The meaning of Samadhi in yoga is

T H e o7 3ref | -

Self realization
A
W g™
Individual discipline
B
G SR
Meditation
C
12|
Breath control
D .
oI IR Ag=01

Answer Key: A

Q177 Which of the following asanas is not beneficial in High Blood Pressure ?

9 o S 1 3 I A H aTHBRI T8l 82

Vajrasana
A
EONIRSE]
Siddahasana
B
g 3
Matsyasana
C
HY 34
Pashchimottanasan
D
BIEEISIBEIRE

Answer Key: D

Q178 Which of the following asanas is not beneficial in paralysis?

9 & ¥ S T 3T vemaTd § AHER) T8 82

Padmasana
A

QAT

Veerasana
B

R 3

Vajrasana
C

EONIRE]

Parvatasan
D

Tdd 3

Answer Key: C

Q179 Sudhi Kirya, Dhauti is for




efiforan, et P 7 9 o & fm gt g2

Abdominal Massaging

Uc 1 Hferar

Internal cleansing

gl qwTg

Nasal cleansing

1% Pt BT

Yogic enema

D

e g

Answer Key: B

Q180 How many female participated in the 1900, Paris Olympics?

1900 & Oy 3ficifte o foramit afgamadt 3y formr um

12

12

20

20

22

22

24
D

24

Answer Key: A

Q181 Olympic Motto term "ALTIUS" mean

3t Hiel & Usg 'ALTIUS' BT 37 § -

Faster

G|

Stronger

RUESRUKS

Higher

JdR

Athlete

un?«ﬁ'c'

Answer Key: C

Q182 Indian lawn Tennis player Leander Pace won bronze medal in Olympics in the year ?

YR S RISt ey U9 A foe ad & ofieifies H i Uas Site U1

1996

1996

2000

2000




C (2004

2004

2008

D

2008

Answer Key: A

Q183 The first common wealth games held in 1930 at

1930 & JYH APHSH Wl Hgl gu A?

Edmonton

TgHeHd

Cardiff

HISH

Kingston

fhrea

Hamilton

D

effreed

Answer Key: D

Q184 The height of kho-kho pole is -

Gl G Ul B TS ..... B & -

130 cm.

130 <IHIeR

115 cm.

115 I=<HeR

120 cm.

120 S<THIER

128 cm.

D
128 TCIHIeR

Answer Key: C

Q185 In 400 meter hurdle for women, the last hurdle in first lane will be placed .... meter from the starting line.

Afears &t 400 Wex F1e1 3l B Uge o & SRaS q1em gRY Y@ 9 fhd=it g w e S

360 meter

360 HicR

365 meter

365 Hicr

370 meter

370 HicR

355 meter

D

355 Hiex

Answer Key: A




Q186 The lower edge of the goal post for men's soccer is

I3 Hesid B Madre &1 fHaar fert st adg

from floor .

2.44 meter

244 IR

2.42 meter

2.42 HIR

2.62 meter

2.62 TR

2.34 meter

D
234 4R

Answer Key: A

Q187 In woman volleyball, the height of net is

HigeT arefisiel # 7T &1 Harg

2.42 meter

242 HIR

2.24 meter

224 HIR

2.43 meter

2.43 TR

2.45 meter

D
2.45 HieR

Answer Key: B

Q188 The Uber cup is related to which sports ?

IR U 5y @ A Fefta g 2

Hockey women

Hfger gl

Basket ball

TREBead

Volley ball

CIRIEIS]

Badminton

D

s

Answer Key: D

Q189 2022 common wealth games will be organized at

2022 & IATHST Well BT ST

e | |

Sydney

Rrst




B |Burmingham

EiEE

New York

i

Cape town

DW

Answer Key: B

Q190 How many matches will be played in knockout tournament if 23 teams are participating?

fareft A am3e gatie # afg 23 AF ym A & § o) fovan T Qal oma 2

22

22

21

21

23

23

24
D

24

Answer Key: A

Q191 In which year commonwealth games were organized in India ?

YR H H HiHTdd T HRIY W Y 2

2010

2010

1982

1982

1980

1980

2012
D

2012

Answer Key: A

Q192 Cash price for Eklavya Award is?
TH A REBR H < ST areft 79718 IR B -

10,000

10,000

20,000

20,000

30,000

30,000

40,000

40,000




| Answer Key: A

Q193 India Celebrats its national sports day on -

YR AT et faas e 7RI SIel § 2

29 August

29 3

26 August

26 A

29 September

29 RdeR

26 September

D 5
26 FIdsR

Answer Key: A

Q194 Sphygmomanometer is used to measure

WAMANHER GRT ... BT AU foraT ST B |

Blood hemoglobin

TS gHANafeT

Blood Cholesterol

CSEEANRHG]

Blood Pressure

S ISR

Blood Volume

D

TS diegd

Answer Key: C

Q195 Where was the resolution of celebrating international Yoga day passed?

SR N1 gy # &1 Tebed Pl Ui faar a2

W.H.O

W.H.O

UN, General Assembly

UN, General Assembly

1.O0.C.

1.O.C.

UNESCO
D

UNESCO

Answer Key: B

Q196 Excessive bleeding is caused due to defidiency of ...

SIARP YFad fr gt HH BT g 2

A | Vitamin A




faerf T

Vitamin B

[EEIEEKI]

Vitamin K

[EEIEEES

D

Vitamin E

fetfi

Answer Key: C

Q197 Sports Psychology is

G A ..o 8-

Applied Psychology

IR HANR

Developmental Psychology

ICEARIERECIERIE]

Clinical Psychology

EIEZSEAREEICRIE]

D

Child Psychology

EISKEIERIE]

Answer Key: A

Q198 Western region SAI Center is situated

Uiy & SAI A< Hel RUT 8 2

Indore

TR

Jaipur

SR

Gandhinagar

TR

D

Pune

o

Answer Key: C

Q199 Capt. Roop Singh stadium is located in which city ?

B FURig wieur fpg Ter i fRd g 2

Bhopal

HaTd

Jabalpur

EENEN

Indore

TR




Gwalior

Dvan%m

Answer Key: D

Q200 In 400m standard track,400 meter hurdle run,lane no.2 runner will get a stagger of -

400 Hex B AHS TH W, 400 HIeX T IS T A HHID 2 P UIGH P ....... WIR U RN |

7.04 meter

7.04 TR

7.67 meter

7.67 HIcR

14.71 meter

14.71 iR

3.52 meter

D
3.52 HIeR

Answer Key: A




